
 
      
 
 
   

   
CCSE IV EXAM (11.02.2018) 

MENTAL ABILITY & APTITUDE 
 
1. The 7th term of the sequence 0.12, 0.012, 0.0012 …… is 

A.  1.2 x 106              B.  1.2 x 10-6       C. 1.2 x 107        D. 1.2 x 10-7 

0.12, 0.012, 0.0012 …… vd;w njhlh; thpirapy; 7-MtJ cWg;G.  
A.  1.2 x 106      B.  1.2 x 10-6      C. 1.2 x 107        D. 1.2 x 10- 

Solution: 

tn = a x rn-1 

  
0.012 1

0.12 10
r   

 
12

0.12
100

a   

7th terms   ⇒  
7 1

12 1

100 10



 
 
 

 

          ⇒    
6 8

12 1 12

100 10 10
   

   ⇒     71.2 10  

 
 

2. Simplify : 

9 3 3 3

8 5 4 5
of
 

  
   

A.  

11
1

18            B. 

5
1

18       C.  

13
1

18        D.  

7
1

18  
RUf;Ff:  
9 3

8 5
 ,y; 3 3

4 5

 
 

 
 

A. 11
1

18
  B. 5

1
18

  C. 13
1

18
  D. 7

1
18

 



 
Solution: 

=   
9 3 3 3

8 5 4 5
of  

  
 

 

=   
15 129 3

8 5 20

 
   

 
 

=   
9 3 27

8 5 20
   

=   
9 81 9 100

8 100 8 81
    

=   
25 7

1
18 18

  

 
3. A sum of money triples itself at 8% per annum over a certain time.  The time take is 

     A.  20 years           B.  22 years    C.  25 years    D.  30 years. 

xU Fwpg;gpl;l mryhdJ Mz;Lf;F 8% tl;b tPjj;jpy; %d;W 
klq;fhFtjw;F gpbf;Fk; fhyk;  
A. 20 Mz;Lfs;   B. 22 Mz;Lfs;  
C. 25 Mz;Lfs;   D. 30 Mz;Lfs; 
Solution: 

       
1

100
x

N
R

 
   

 

            
3 1

100 25
8

years
 

    
 

 

4. If a, b, c are in A.P., 3a, 3b, 3c are in 
   A.   A.P.      B.  G.P.       C.  A.P. and G.P.       D.  None of these 

a, b, c vd;gd xU $l;Lj; njhlh;thpirapy; cs;sd vdpy; 3a, 3b, 3c 

Mfpait vd;w njhlh;thpirapy; cs;sJ. 
A.   A.P.      B.  G.P.      C.  A.P. kw;Wk; G.P.      D.  VJk; ,y;iy    
Solution: 

  Let a, b, c are 1, 2, 3 

  ⇒  3a, 3b, 3c  ⇒  31, 32, 32 

  ⇒ 3, 9, 27 (common Ratio) 
          ∴ Ans = G.P. Series. 

 
5. If – 1 < r < 1, then the sum of infinite number of a geometric series is 



 

A.  
 " 1

1

r
a

r



      B.  
 1 "

1

r
a

r



    C.1

a

r      D. na 
– 1 < r < 1 vdpy; Kbtpyp tiu ngUf;Fj; njhlhpd; $Ljy;  

A.  
 " 1

1

r
a

r



      B.  
 1 "

1

r
a

r



    C.1

a

r      D. na 

 
 
6. The angle in semicircle is a ________________ 

A.  acute angle    B.  obtuse angle    C.  straight angle     D.  Right angle 

miutl;lj;jpy; mikAk; Nfhzk; _________. 
A. FWq;Nfhzk; B. tphpNfhzk;  C. Neh; Nfhzk;  D. nrq;Nfhzk;  
Ans: Right angle=90 degree 

 
 

7. Find the correct relationship between G.C.D. and L.C.M. 
I.   G.C.D = L.C.M 
II.  G.C.D   L.C.M 
III. L.C.M   G.C.D 
IV. LCM > G.C.D  
A.  I       B.  II        C.  III      D.  IV 
,U ntt;NtW vz;fspd; kw;Wk; rhpahd njhlh;G  
I. kPg;ngU. ngh.t = kPr;rpW.ngh.k 
II. kPg;ngU.ngh.t ≤ kPr;rpW.ngh.k 
III. kPr;rpW.ngh.k ≤ kPg;ngU.ngh.t 
IV. kPr;rpW.ngh.k > kPg;ngU.ngh.t  
A.  I     B.  II        C.  III      D.  IV 

Solution: LCM > G.C.D 
 
8. If p, q, r, s, t are in A.P, then the value of p-4q +6r – 4s +t is 



 
A.  1     B.  2     C.  3     D.  0 
p, q, r, s, t vd;gd $l;Lj; njhlh; thpirapy; (A.P) ,Ug;gpd;> p-4q +6r – 4s 
+t= ? 
A.  1     B.  2     C.  3      D.  0 
Solution: 

Let,  p, q, r, s, t  are  1, 2, 3, 4, 5 
=  p-4q +6r – 4s +t 
=  1-4(2)+6(3)-4(4)+5 
=  1-8-18-16+5 
=  24 – 24  = 0 

 

9. If the product of four consecutive terms in G.P. is 625. Find the first term. 

A. 15   B. 25    C. 5   D. 35 

xU ngUf;Fj; njhlh; thpirapd; mLj;jLj;j ehd;F cWg;Gfspd; 
ngUf;Fj; njhif 625 vdpy; Kjy; cWg;igf; fhz;f.  

A. 15   B. 25    C. 5   D. 35 

Solution: 
a x ar1 x ar2 x ar3  =  625 

       a4 x r6  =  54  ∴ r = 1 

          a4  =  54                  ∴ a = 5 

 

10. Gain or loss percent is always calculated on 

 A. cost price  B. selling price  C. gain  D. loss 

,yhg my;yJ el;l rjtPjk; vg;nghOJk; vjd; Nky; fzf;fplg;gLfpwJ? 

A. mlf;f tpiy B. tpw;gid tpiy C. ,yhgk;  D. el;lk; 

 
 

11. A student goes to his school from his house at a speed 3 km / hr and    

 returns at a speed of 2 km/hr. If he takes 5 hours in going and coming     

 the distance between his house and school is 

A. 5 km   B. 5.5 km   C. 6 km  D. 6.5 km 



 
xU khztd; mtDila gs;spf;Fr; nry;Yk; NghJ kzpf;F 3 fp.kP. 
Ntfj;jpYk; gs;spapypUe;J tPL jpUk;Gk; NghJ kzpf;F 2 fp.kP. 
Ntfj;jpYk; nry;fpwhh;. NkYk; mth; gs;spf;F nrd;W tu 5 kzp Neuk; 
vLj;Jf; nfhz;lhy; gs;spf;Fk; tPl;bw;Fk; cs;s J}uk; 

A. 5 fp.kP.  B. 5.5 fp.kP.  C. 6 fp.kP.  D. 6.5 fp.kP. 

Solution: 

D = Average Speed  x  Time 

        =  
2 3 2

5
5

  
 

 
 

  Total Distance Travelled  =  12 km. 

  Distance between House to school is 6 km 

 

12. If 
3 4 7

a b c
   then a b c

c

   is  

 A. 7   B. 2    C. 1

2
   D. 1

7
 

3 4 7

a b c
   vdpy; a b c

c

   vd;gJ  

A. 7   B. 2    C. 1

2
   D. 1

7  
Solution: 

a = 3,  b = 4,  c = 7 

⇒   
3 4 7

7

a b c

c

   
  

⇒   
14

2
7

  

 

13. Which is biggest ratio? 

  2 : 3, 3 : 5, 4 : 7, 5 : 8 

 A. 3 : 5   B. 4 :7  C. 5 : 8  D. 2 : 3 

 2 : 3, 3 : 5, 4 : 7, 5 : 8 ,tw;wpy; nghpaJ vJ?  

A. 3 : 5   B. 4 :7  C. 5 : 8  D. 2 : 3 

Solution: 

2 6 12

3 6 18




   

4 2 8

7 2 14





 



 
3 3 9

5 3 15





   

5 2 10

8 2 16





 

In all the fractions {Difference between numerator and denominator are same, 

then the smallest fraction is smallest value.  Greatest fraction is greatest value.} 

  ∴Greatest  =  
12 2

18 3
  

 
 

14. The G.C.D. and L.C.M. of 90, 150, 225 is 

A. 15,450  B. 450, 15   C. 90, 225  D. 225, 150 

90> 150> 225 Mfpa vz;fspd; kP.ngh.t. kw;Wk; kP.ngh.k.  

A. 15,450  B. 450, 15   C. 90, 225  D. 225, 150 

Solution: GCD = 15 , LCM = 450 

 

15. If 1
6y

y
   find the value of 3

3

1
y

y
  

A. 216  B. 222   C. 234  D. 228 
1

6y
y

   vdpy; 3

3

1
y

y
 -,d; kjpg;igf; fhz;f. 

A. 216  B. 222   C. 234  D. 228 

Solution: 

       (a-b)3  =  a3 – b3 – 3ab(a-b) 

   

3

3

3

1 1 1 1
3y y y y

y y y y

   
         

   
 

    3 3

3

1
6 3 1 6y

y
      

        216 + 18  =  3

3

1
y

y
  

         =  234 

 

16. Which of the following statement is false in a Parallelogram? 

 A. The opposite sides are parallel 

 B. The opposite angles and sides are equal 



 
 C. The diagonals are equal 

 D. The diagonals bisect each other 

 Xh; ,izfuj;jpy; vJ jtwhd $w;W?  

 A. vjph;g; gf;fq;fs; ,izahFk; 

 B. vjpnujph; Nfhzq;fs; kw;Wk; gf;fq;fs; rkkhFk; 

 C. %iy tpl;lq;fspd; ePsq;fSk; rkkhFk; 

 D. %iy tpl;lq;fs; xd;iwnahd;W ,U rkf;$wpLk; 

 
 

17. If x,  2x+2,  3x+3 are in G.P., then form 

 A. an A.P.     B. a G.P.  

 C. a constant sequence   D. Neither A.P. nor a G.P. 

 x,  2x+2,  3x+3 vd;gd xU ngUf;Fj; njhlh; thpirapypUg;gpd; vd;w   

njhlh; thpirahdJ 

A. xU $l;Lj; njhlh; thpir 

B. xU ngUf;Fj; njhlh; thpir 

   C. xU khwpypj; njhlh; thpir 

   D. xU $l;Lj; njhlh; thpirAk; my;y ngUf;Fj; njhlh; thpirAk; my;y 

   Solution: 

, 2 2, 3 3x x x   

   11 , 11 2 2 , 11 3 3x x x   

∴ Common Ratio (r)  =  11 

∴ G.P. Series. 

 
 



 
18. The sum of three numbers is 264 if the first number be twice the second  

  and third number be one third of the first, then the second number is 

  A. 48   B. 72   C. 54   D. 64 

 %d;W vz;fspd; $Ljy; 264 Kjy; vz; ,uz;lhtJ vz; Nghy; ,U   
 klq;F> %d;whtJ vz; Kjy; vz;zpy; %d;wpy; xU gq;F vdpy;  
 ,uz;lhtJ vz; ahJ?  

  A. 48   B. 72   C. 54   D. 64 

  Solution: 

A        B    C  A 

2 :      1     1    :  3 

A      B       C 

6            3        2 

B  =  
264

3
11

  

          =   24  x  3    =   72. 

 

19. The value of 0e  is  

 A. e   B. 1    C. 0   D.   

 
0e tpd; kjpg;G  

 A. e   B. 1    C. 0   D.   

 0 1e  
 

20. How many solutions have a linear equation in one variable? 

 A. Three solutions   B. Unique solution  

 C. Two solutions    D. No solution 

  xU khwpapy; mike;j Xh; xUgbr; rkd;ghl;bw;F vj;jid jPh;Tfs;? 

  A. Kd;W jPh;Tfs;    B. xU jPh;T  

  C. ,uz;L jPh;Tfs;   D. jPh;Tfs; ,y;iy  

 



 

 
 

21. Reciprocal of 0 is __________. 

 A. 0   B. 1   C.    D. No reciprocal 

0-tpd; jiyfPO = _________. 

  A. 0   B. 1   C.    D. jiyf;fPo; fpilahJ 

    Explanation: 

Recall that division by zero is undefined. That is, we cannot have zero in 

the denominator of a fraction. Therefore, while we could write 0 as 0 / 1, 

we could not "flip" this fraction since that would cause division by zero. 

Zero has no reciprocal. 

 

22. Which one of the following statements is false? 

  A. Among the common divisors of given numbers the greatest divisor  

           is the G.C.D. 

  B. If the G.C.D. of any two numbers is 1 they are said to be prime 

          numbers 

  C. Among the common multiples of given numbers, the least is the 

           L.C.M. 

  D. The product of any two numbers is equal to the product of their 

           G.C.D. and L.C.M. 

fPo;fhZk; $w;Wfspy; vJ jtwhd $w;whFk;? 

A. ntt;NtW vz;fspd; nghJ tFj;jpfspy; kpfg;nghpa tFj;jp  
mt;ntz;fspd; kPg;ngU nghJ tFj;jp MFk;  

B. ,U vz;fspd; kPg;ngU ngh.t. 1 vdpy; mt;tpU vz;fSk; gfh  

   vz;fs; vdg;gLk;  

C. ntt;NtW vz;fspd; nghJ klq;Ffspy; kpfr;rpwpa klq;F     

   mt;ntz;fspd; kPr;rpW nghJ klq;F MFk;.  



 
D. ,U vz;fspd; ngUf;fw;gyd; mtw;wpd; kPg;ngU ngh.t. kw;Wk; kPr;rpW  

   ngh.k Mfpatw;wpd; ngUf;fhw;gyDf;Fr; rkkhFk;.  

      Explanation: 

 Two Prime Numbers  HCF  =  1. 

   Eg:    (2, 7) 

 Two Composite Numbers also have  HCF  =  1. 

           Eg:     (8, 9) 

 

23. If 2 2 2 21 2 3 .... 10 385      then 2 2 2 22 4 6 .... 20     is  

 A. 770   B. 1150  C. 1540  D. 385 × 385 

  2 2 2 21 2 3 .... 10 385     vdpy; 2 2 2 22 4 6 .... 20     d; kjpg;G 

     A. 770   B. 1150  C. 1540  D. 385 × 385 

     Solution: 

        22 [12 + 22 + 32 + …….. + 102    =  4 x 385 

         =  1540. 

 

24. In the ratio x% of y to y% of x, its fraction value is equal to 

  A. 1

xy
   B. xy   C. x

y
   D. 1 

      y – d; x%-f;Fk; x-d; y% ,ilNa tpfpj gpd;dj;jpd; kjpg;G  

 A. 1

xy
   B. xy   C. x

y
   D. 1 

      Solution: 

     :
100 100

yx
y x   

  1   :   1 

 

25. Arun is now half as old as his father. Twelve years ago the father’s age  

  was three times as old as Arun. Now the present age of his father’s age  

  is 

     A. 24 years      B. 36 years  C. 48 years    D. 50 years 

 



 
Solution: 

Arun  Father 

Now     1  :      2 

Bef 12 yrs    1  :      3 

12 1
3 36

2 12 3

x
x

x


  


 

           =  2x  -  12 

     ∴ x =  24 

         Father’s Age  =  2 x 24  =  48 years. 

  

 
 

 


